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20214121 KK ER R A R A BT ikl 24 99.79 Py s
2021412 K 2 R R R AT IR A HRAET ikl 22 99.77 Dy s
20214121 AL Z R R A R A HRAET ikl 6 99.17 P s
2021412 AL (50 RHEAT IR A HRAET ikl 6 99.17 iy
20214121 AL IR R AT IR A ] HRAET ikl 16 97.50 il
2021412 WK TR BN R A R A HRAET ikl 34 96.76 Py
20214121 A MR A B A HRAET ikl 4 96.25 Dy s
20214121 WK TR R AT IR A HRAET ikl 28 96.25 P s
2021412 AL ARFR IR AT IR A HRAET ikl 5 96 iy
2021412 LA R HR T R AT R A R HRAET ikl 158 95.38 il
2021412 KRR TR IR A 7] BT ikl 3 95 Py s
20214121 AL RIRRRH AT IR A HRAET ikl 3 95 Dy s
20214512 jtﬁgméwwi?‘rsaﬁmffpr%/z: AR p—— 8 93.75 e
2021412 LA SR TR IR A HRAET ikl 11 90.91 P s
20214121 TG T B PR A HRAET ikl 8 90 il
20214121 ITALAT AR R AT IR A BT ikl 2 90 Py s
20214121 KT SRR R AT PR A HRAET ikl 8 89.38 =

20214121 TRt QR AR AT R A 7 HRAET ikl 10 89 =

2021412 KU R4 B A HRAET ikl 2 80 =
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